Clas Erausgle #3 (3/:0/2014,) ~ Sukshiurion. in. double Intzpats

2 oY% Vxy QuosKhdkions ; =d¥ Ly
| [E e gy | Shekton &u_J;. > y=wx
\ \/8 A . 2 2
! V=@ = V=wX
. => A= _V__" :>y=\k\r
b= e U ( <
= W w | - because affl quantities are poritive)
=UV J= . " =S5 <0 => Tale advmtute valiee Lotor |
—RQ "OR =
o y=x 5 Y=l 0= v
J ﬂ\\ u_=l /N
22: W=22: V=3
[ & R f 2F =3
| I J U=|
:( | 4= b= 1 \ _/
| o 2 { s
2w <

> 10y B gy [ g an 2], et

2 2 2 =3 2
A [ s A vl o e rerlor
=2 (2}~ [ vleYar) -2 (2e% 2e - ve’|} + {evav)

~Z (7%23‘23/*-8 +e\r||2) -2 (-ere™-e) - \2"}‘46 (




T/yaﬂw*%?&/ww)‘u%m; {U..zyfx => Y=XxXw
s B A T O S A [

Y _ Vv l
=> X_J-:, => 3= 22UV 2_\[\7'\-/ _ ‘ __J'_ _ __-_w
y=\Vuv v v | Aw aw s Uzw
2V 2
\'4
T y=x; Y=tsuat Y
=2 ;VWw=2 HI=
0 : J 2 W=4
4=1x; xy=1; v=|

- \rv‘- tk:!‘l;\r SLI \J_V— ( 2
AU = ’ = — av
S[ = (\HL =1 ) € ; 72 [>
=S‘1 w2 W @ w=Vv
| v v dw-i\’—_: av= ZWCLV
= ZIQW :" Rqeﬁo\v ( = AV =2wdwW
' = zwe‘”o\w
2 .
- 49z -2 (e[ et
2
=\2e*-4e =2 ( ze/é e’ &)
-2¢’

)

(SWW, vk jm%amu a it handen



